Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

DISTRIBUTIVE Recall: The distributive property states that
PROPERTY a(b+c)=_Qb Y ac ora(b-c)=_Qp-0ac
4(x +9) 7(k-3)
EXAMPLES Uy 2L 2l
(3 JEEICRD) ©® G2
-3n -3%--3 ~-25X~-2-2
-3 +24 -10x +H
Directions: Simplify each expression by distributing.
YOU TRY! 1. 7(x+5) 2. 5(w—4) 3. -5(m-5)
x+35 SW =20 “5m +25
4. 9(2-a) 5. 2(y +3) 6. 2(x+7)
1g-Jda ZJﬂ'H/ -2X -4
7. -7(3-5m) 8. 3(2n+8) 9. -12(c +4)
-2)+35m ln+ 24 -12¢ -Y4§g
10. -2(44 +5) 11. —(k-2) 12. 4(1-7p)
il Y42 H- 28
13. 9(2r-7) 14. (5t +4) 15, g ( % w+10)
e -5k -4 1w 440
L3 Lwt A

@ Gina Wilson (All Things Algebra), 2016




RIDDLE: Why dlicdn't the quarter robA, down the WL with the nickef?

Directions: Simplify each expression by either combining like terms of distributing.
After completing each set, find matching answers. One will have a letter and the other
a number. Write the letter in the matching numbered box at the bottom of the page.

SET1
H. 4(x+7) = Uys2¢ 5. —3(x+9) = ~3X-27
0.4+7x—5r-6 = IX-2 12, 40-9x+4x+5 =_ ~SX 45
N. -5(x-9) =_“5x 145 3, 6x-2-2x+30 = 44X +2¢
D. 9x - 22 -5-12x = -3%x -1 7. 2x-1) = IX-2
SET 2
A.5n+14-11n-2 = "‘([V\"\'\z 8.1371-53-3n+3 = \DV\’ISD
E. —4(n +8) = hn-32 4. -6(n-2) = -ln+i2
C.10-7n+12n+10 = 5N 120 2. -2(4n+5) = “¥n-lo
R. 10(r - 5) - lppn-8D 10. 5(1+4) = _5n+20
T. -11-10n+2n+1 = ~¢n-10 11. 3-121+8rn-35 -Un -32
SET 3
S. 3(a+8) - %0+24 6. -4(3a +5) = ~l2a -20
M. -2-17a+52-18 = —-\2a-2D 13. -7(a +2) = "7&""{
E. —2(a-8) = =200+l 1. 114-8+11 -5 = la+3
T.3-17-9a+2a = ~Tla-14 14. 8a -5a+26 -2 = 3a + 24
L 3(2a+1) = lat3 9.20-12¢+10a-4 =20 tlb
ANSWER:
I 2. 3 4 [ 5. 6. 7. 8. q. I0. 1. 2. T 1B [ 1 |
VTR |AID][M|D|RIE||CIE N |[T]S
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

Directions: Simplify each expression by combining like terms.

warm-Up 1 io-ies 2. 12a-8+4a+a
-l X Ta-%
3.5w-6-8+7w 4, -7k +17-2k-3
12w -1 -k tiy
Directions: Simplify each expression by distributing.
5. 8(x +5) 6. -4(2x-9)
IX 44D -gX 130
7. 7(6 -x) 8. -3(x+1)
H72-1x -3X -3
. . An algebraic expression is in simplest form when it has
SlmpliFYlng no like  tevimg and N0 1. .
Expressions parenthesis
To simplify an algebraic expression:
L. Combine ]
?D\SMbVﬁ'C J ‘?Utﬂ LS
Directions: Simplify each expression.
Examples 55 et 2. 5(n+6) 21
2 -15 + X ¥ 5n +30 -2|

lux-—Mz

3. —7(w+4) +2w-15

Tw-2% 4+ Iw-15

4. 12(4—k) - 9%

48—- 12K -Ak

d‘—l%-llg
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5.6(r-2)-r+26-7r
br-12-v 426" Tr

6. -4(7m-1)-16 +22m

-28 A4 -l +22m

7. -13+5(y +2)-8

-13 ‘\’63 10 -9

59 ]

8.12x-2(9-x)
1Zx -\€ +2X

\'—\X'\‘Zi

9. 18- (7v+1)

18 -7V = |

[Aven|

—

10. -2p-6(p-4)+22
“2p-Lp 424 +22

-8 +HY]

11, 1-9(2#r+3)-7n
1=18n -27 -1

FZ‘SV} - Z_Ej

12. 2(a-4)+3(9-a)

20-€+27 - 3a

Fa-&-(q

13. 8(2k - 7) - 4(k +5)

[ K -5 -Hk -20

14. 14y - (y-2)+5(y +9)

IHy -y +2+5y 45

oy )

Summary:
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Name:

Date: Per:

Unit 2: Algebraic Expressions

Homework 3: Distributive Property &
Simplifying Expressions

Directions: Simplify each expression by distributing.

1. 3(m+9) 2. 8(x-2) 3. —2(2k +9) 4. —15(v—4)
Im+21 X -1 -1l -18 -8y + o

5. 6(4-) 6. —(4k +11) 7. 5Gr +1) 8. —7(4-3p)
24-ly -4y -1\ S +5 -28 + 2lp

Directions: Simplify each expression.

9. 2(x+9)-7x +4

Z_x Y1g -1x +4
l—6x +22 |

10. 42k -1)+ 9% -15
-gk +4 +ak -i5
§\< =1

11, 12(c-3)+27 +c-9c

12¢ -3 +271 +¢ -9c

12, -3(4w+5)-16-2w

—12W -5 - b - 7w

Ue -9 ~Hw—3ﬂ
13. -10-3(7 - p) 14. 157-(61+8) +1
-10-21 + 3p 5n -Uun -8 + |

\-31 +3p

O -1 |

15. -h-5(h+7)-29

- -5h -35 - 29

S~Uh -LH}

16. 24 +4x-6(2x-5)
24 + 4¥ ~12xt 30

E%x+s4

17. 7G - 2k) + 0k -5)

21 - 14k +ak -Y4s5

18. 1+3(r-8)-4(r + 4)
|+ 3 -24 -4y -G

b

19. 2(5-a)-6(2a +3)
10-Zo -1 2 —18

|-4a-¢ |

20, -8(m +1) +5(3m - 2)
—~gm - +15m —ID

&’lm—lx

® Gina Wilson (Al Things Algebra), 2016




